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INSTRUCTIONS TO CANDIDATES

1. Immediately after the commencement of the Examination, you should check that
this Booklet does not have any unprinted or torn or missing pages or items, etc.
If any of the above defects is found, get it replaced by a Complete Question Booklet
of the available series.

2. Write clearly the Question Booklet Version Code A, B, C, D or E, in the appropriate
space provided for the purpose, in the OMR Answer Sheet.

3. Enter the name of the Subject, Reg. No., Question Booklet version code and affix
Signature on the OMR sheet. As the answer sheets are designed to suit the Optical
Mark Reader (O.M.R.) system, special care should be taken to fill those items
accurately.

4. This Question Booklet contains 70 questions carrying equal marks. All questions
must be attempted. Each question contains four answers, among them one correct
answer should be selected and shade the corresponding option in the OMR sheet.

5. All the answers should be marked only on the OMR sheet provided and only with
a black or blue ink ball point pen. If more than one circle is shaded / wrongly
shaded / half shaded for a given question no marks will be awarded.

6. Questions are in both English and Kannada. If any confusion arises in the Kannada
version, please refer to the English version of the questions.

7. Immediately after the final bell indicating the closure of the examination, stop making
any further markings in the OMR Answer Sheet. Be seated till the OMR Answer Sheet

is collected. After handing over the OMR Answer Sheet to the Invigilator you may
leave the examination hall.
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1. Yellowing of Taj Mahal is an effect of

a) Acid rain | b) Global warming

c) Ozone depletion d) All of the above

FoF B’ BSOINRNROIDER B o8NS

a) &) Y b) 2PRET ToTRIIE DOF
C) wRReS® ATFY d) S0eOT )P

2. Which country has organized its cabinet meeting under the sea to drag
attention of the world towards the global warming and its threats ?
a) Maldives b) SriLanka
c) Fiji d) Indonesia
2N SOTRNT W3 9333 30INY 3B BT N, AFODL OINS TS 3&2
TWIE 732,3033591 RBOTT FF7 50306233 9

- a) e b) &ewos

C) & d) doBReNeTw)

3. Things you can do to decrease global warming include
a) Reduce the usage of your air conditioner on high
b) Turn off your light when you are not using them
c) Use public transports instead of personal vehicles for transportation
d) All of the above

2SI TITBRSBIY, FRED BRB0 D) BRBWRITRT FOIND 83 FINIYRLY, Ko
a) dX £z§3t3 SSpIVevbler: $20) we}%o:bzg BRI B

b) ez 3B WPROTN VRN, ST° BB

c) mORMoN e odEs TOBING WRON I HRIT m@rﬁo&a@gt ERSSEY

d) RoedT 2P
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4. is a composite statistics of life expectancy. education and
income level.
a) GDP 6) PPP
) Al d) HDI
B[ BTG, 8F0 TR STR0IT BOXR 200326233 €908e203zNG,
8) wod b) B
0} S5° d) 3R

5. The largest country in the world in terms of population is

a) India b) USA

c) Russia d) China
wIR084,05 FAEoT Q33 CXlatol- Ral)

a) RT3 b) 30T R
C) S d) 23emo

6. UNEP stands for
a) United Nation Economic Protection

b) United National Economic Program

c) United Nations Environment Program
d) Union National Environmental Program
O30T AR DOTT

a ojaoiéé.?zsf JeRI® TIOWT® :p";_a)éiga@

)
b) 030F T TRSST ATIVAT TR0
C) oBF 3’ SR RQ0ITR00LT FPTw0
)

d) 0o mgm’dv @%m&fﬁaow TR0
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7. Sundarbans is an example for

a) Lagoon b) Estuary c) Mangrove d) Reefs

ROOTO W 200830 [T, LUTPBIBOIRNS

a) one b) SQe=0802 grd ¢) Lplelania d) wodned
8. is obtained by decomposition of animal and plant wastes like

animal dung, with the help of microorganisms in the presence of water.

a) LPG b) CNG c) Hydrogen Gas  d) Biogas

Q0O maﬁ%oﬁo@ &ras L3NS 5000008 T3, L3N ANESodde =00TT
39,63 08 mgd quyjddgl BRTROT 0T I BRI,

a) A b) 22523 C) BRReWD ¥RV  d) DT LAV

9. Which one of the following has the maximum genetic diversity in India ?
a) Tea b) Teak ¢) Mango d) Wheat
33 FINIYNYQ, AR 08B, NOF Bd=0ds FOGBOD, BROOT ?

a) B¥o b) 3en C) IR d) Reed

10. Disposable glasses and plates are made up of
a) PVC b) Polystyrene
¢) Polyvinyl alcohol d) Polypropylene
VRDBELIBITT 1020 30 a,de)imf&l Q00T TRBONS

a) b) m@ﬂu el
C) TOVFE* BdR T d) 2dFpF I
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11. NDRF stands for
a) National Disaster Response Force
b) National Disaster Rehabilitation Force
c) Natural Disaster Response Force
d) National Department for Resettlement and Functioning

A BET AP 0T3

3) WRI BWRO BRRE, pertr (Tady 0 DL Fogodo Ta)

b) WIS BIAD® DTRWOUES Fper'r (o840 B WEBFRS TF)

C) T BRRD® SRR, Fperrs (FANFT DT Fegod Ia)

d) RIS BT 0k ToO© OR300 FoFRON’ (DITF RS T

TOFTYN Tody e0d Bess)

12. lead the Bishnoi movement.
a) Medha Patker b) Sunderlal Bahuguna
c) Amritha Devi : d) M. G. K. Menon
WRAeOD zseéd@o:bdl TOZBRTRD
a) Woe ToLO® : b) RooTTTERET wWBORIED
C) 3 Bed d) «0. 2. 8. OIS

13. contains a detailed and organized description about plant life
and its various usages.
a) Yajurveda ~ b) Samaveda
c) Atharvaveda d) Vrikshayurveda

R 2B ROI) BT ARG WIS W} DRTed =0 Roghes3
@ddz%o:b&q LPRPORT.

a) odTITerT ~ b) BRI
C) LBIr=ed d) %&ﬂo@a"erd
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14. Which among the following is a climatic factor ?
a) Pressure b) Humidity
c) Temperature d) All of the above
33 INTINTE). CINTYTD BRI 208:0NTS 9
a) w3ad b) ¥5F3
C) TR d) B0edS 0P
15. Which of the following is an example of a man-made ecosystem ?
a) Tissue culture b) Herbarium
c) Aquarium d) Forest
83 TPNTRIYNTS), IR WSeR AF 3 TORT a%dﬁ@ﬁ VTR TEBOIING ?
a) 0Mmo3 3 b) NB=WOF
C) &8,e00%0 d) e0e3,
16. Omkareshwar Power Station is located in State.
a) Maharashtra b) Uttar Pradesh
c) Karnataka d) Gujarat
ﬁqowﬁesdd ébd%a‘ ooy oa&gsde?wd.
a) ST, b) w30 ke
C) FooF s d) roxoee®
17. International Day for Biological Diversity observed on
a) 22 May b) 5 June
c) 6 September d) 14 November
2008 FIFI0D 9080008000 O
a) Roe22 b) =Rx*5
c) ARorc® 6 d) JBowos 14

SPACE FOR ROUGH WORK

https://universitynews.in



https://universitynews.in

AP~ 404 N A
18. a biogeography region with significant level of biodiversity that

is threatened with destruction.

a) Tropic zone b) Red zones

C) Biodiversity hotspot d) Green zone

DB T 236 DFIOD, BROOTID 08 gerteed Briez,
T D3T3 T D), BROOT.

a) &R et [od b) goe) BN
C) BRI, Tt d) B3 [OOD
19. Radiation does an often calculation in the units of
a) Rad b) Joule
c) Pascal d) Kilo
23Ty S PRI, esron. S53100 WRBETT.
a) oy b) wPer
C) TR d) 3cdee
20. Silent Valley National Park is located in State.
a) Karnataka b) West Bengal
c) Madhya Pradesh d) Gujarat
ROotF MO RIS T 0w 1,
a) Foor s b) =z worves
0) G T3 d) Rowoves
21. An is a dynamic entity composed of a biological community and
its associated abiotic environment.
a) Ecosystem b) Environment
c) Society d) Niche
2,080 QOLOTD m';ébé R0 B e;azﬁiz ROWODAT Sl verelalla)
BRRE BIT HLBNG.
a) LOXT dgsd% b) ozs
C) RRNW d) 33
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22.

biological community of plants, animals and fungi etc., over
time, have reached a steady state.

a) Primary succession b) Climax community

c) Secondary succession d) Tertiary succession

AR, TENsd 308y ddeoR Rt BT, 0N DT BB
FRR0STTO, %&d exy 30T

a) TFN0T YVBTRET b) § SR, R0

C) B),3e0 BT d) Z@eowd ROT

23. According to National Forest Policy 1952, the reporting area of the forest
must be of the total land.
a) 50% b) 40% c) 60% d) 33.3%
008,003 @0ey Ded 1952 3 B0, eﬁds%aﬁdl SO0 RN BTEB) 2830, PR,
e3NTeIeB0.
a) 50% b) 40% c) 60% d) 33.3%
24. Soil is formed by
a) Weathering of rocks b) Chemical reaction
c) Spontaneously d) Always exists
e, Te3S03RrZE.
a) wornY SRABTLNT b) ToRDCIVE §03000T
c) B,03053¢0Z=oN d) 33 e} 0od
25. Typhoid, Cholera, Paratyphoid are examples of diseases.
a) Air borne b) Water borne
c) Vector borne d) Genetic
E3TRONTT, TV, TYTIETOCWE BRENRPT YUTPBCTBNTONES.
a) MYOVOT BURI b) QeOVOT BIRS
C) BREMmIBINOT BORST d) 303083
SPACE FOR ROUGH WORK
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26. The number of babies produced per thousand individuals is called
a) Natality b) Mortality
c) Immigration d) None of the above
T3 TIT FInert eussatnndE SRors Road o), &eriord 380303
a) S b) 00 [a3IoeD
c) I3 d) SO CBRWTP B,
27. July 11 is
a) World Environment Day b) World Population Day
c) World AIDS Day d) World Education Day
w0 11 SN3S.
a) 28, T[T A3 b) 28, wIxosm, OF
C) B, O A d) 23,880 O3

28. UNCED stands for

a) United Nations Committee for Environment Development

b) United Nations Conference on Environment and Development

¢) United Nations Community Education Department

d) United Nations for Culture, Economy and Development

UNCED o33

a) OO FeRST, T FO® QY0 0L TIVTF 08" ([ORTS WRF QN
peleveus] oaﬁgﬁe} #sbos)

b) cdoFEsn’ Sem?, ToRIEN’, S Q0D E0LT 0% BRI o0k (TORT )
eﬁepdv&gp 3003 Food0F oaa;ﬁ%i m’a’maﬁeé)

C) CINF e Sew’, TR IRFERT BT F 008 (Bookng CoF Y

BZOTOD ég\sa ramﬁ)
d) cdoFHET SR, FO° BOT", BEORV &,06° BRSO R00LF (Romy8, ©F eS8 R
egsaj,@pmh ) ﬁ"f’@ )
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29. Savannah, Shivalik hills are example of ecosystem.
a) Forest ecosystem b) Desert ecosystem
c) Grassland ecosystem d) Pond ecosystem
AR, BT & Giferte] dgsda;odo NTOTBOES.
a) ©0¢) HORT FIF b) 30 HORT A
€) TR TORT FTF d) r9a BORS F=T
30. includes non-living factors like temperature, light, rainfall, soil, -
minerals etc.
a) Abiotic environment b) Biotic environment
c) Built environment d) In situ
SOTRNR, 23R, 0%, doeaga , DIWNED DDOTIT Ve3eF ejoér{edaigt
WSRRORT.
a) DT [OxT ‘ b) 2§58 [O=T
C) ANFB WOIT d) |3 a2
31. Noise is measured by sound meter and the unit is
a) Hertz b) Joule
c) Decibel d) Seconds
eﬁzgadaigl c;cgé’o Q0T RO SFONTNIBE 308) QWS DFRRS
a) BF b) ePer
C) Bader d) Rgow®
32. Which is the only country which has not ratified the Kyoto Protocol yet ?
a) United States b) Australia
c) Japan d) India
BRetdne ST AR, 20NeBORT DFF 363 CIRRTH 9
a) CIOFEE Feer b) &7 edcsm
C) =TI d) o3

SPACE FOR ROUGH WORK
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33. Ozone Day is observed on
a) 3" January b) 16" September
¢) 10" November d) 26" March
80w wedner® DR, 3ORTVIT,
a) wIN0 3 b) Aedowo® 16
C) SFowo* 10 d) =eeFr 26
34. The average life expectancy around the world is currently
a) Stable b) Increasing
c) Decreasing d) Not changing
gwowmqsosd RTORO EBITHOIN BRIZTE,
a) ©BOTNI b) B33
C) BRROIRNRIST d) wEeende)
35. HIV is not likely to be transmitted by
a) Sharing needles of injections b) Mosquito bites
c¢) Blood transfusion d) None of the above

QTOOT 2T 0 BORI mz:gsé QY.
a) zﬁazz’%d)%d mﬁﬁe}ag BeBRHRD  b) AeY) 623%@:33

c) gga EVADIIN] d) SIS cIRYTe B,
36. Treated water can be disinfected by adding

a) Alum b) Fluorine

c) Chlorine d) Oxygen

xo:);om Qec) Fe0RE RPWB BRE0R BEBRAPRLBIT.

a) BORF b) RO

c) 3RO d) esews

LT
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37. pH of rainwater is

a) 5-6 b) 6-7 c) 7-8 d) 8-9
209 03 pH
a) 5-6 b) 6-7 c) 7-8 d) 8-9

38. Logo of WWF is

a) Giant Panda b) Polar Bear
c) Red Panda d) Brown Bear
WWF 3 eooeds

a) WIS TR b) o FOR

C) 3o TR d) 8oz 50B

39. Which of the following are consequences of Ozone depletion ?
a) Skin cancer and cataract
b) Reduced growth in plants
c) Shortening of zooplanktons and their breeding period
d) All of the above
83 $INTYNSE, PR LR RRFPOD TOFBOONE
a) WRoF s HIO° =02 deéa’ Gple]
b) RYRYOS B3PI BRI
C) 3,69 BB B e5INY ROTIRREBY, 5T FRFOTRNOR)TO
d) doe@;ﬁ DO

SPACE FOR ROUGH WORK
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40. __ is acolorless unstable toxic gas with a pungent odour formed

from oxygen by electrical discharge or UV light.

a) Sulphur dioxide b) Particulate matter

c) Ozone d) Carbon monoxide

WERBEE T QRO BRVNGY , DBYT RRORPRIDE 550
0308 23P80T esd;_;saﬁ#@od dra RROR) 863500 m#éodoab BROQTIZT.

a) Ar” & e b) OFF, [R

C) WEned® d) sora® SRt &

41. Which is a list of renewable resources ?
a) Petroleum, geothermal, wind
b) Biomass, geothermal, hydropower
c) Natural gas, wind, biomass
d) Hydropower, solar, wind energy
NTORLIITOT n’odd@@ﬁ%ﬁ au’é.z 03RO ?
a) Jedredodo, LPrRZD, MY
b) 2e=T08, BT, w3
C) JRNFE LAV, MY, Be00d
d) w33, 9T, MY 33

42. Red data book contains data of
a) All plant species
b) All animal species
c) Threatened species
d) Economically important species
3oy Beto PR demdﬁi WSRPORT.

a) O A%, Teesnsd

b) e *gs*é RSN

C) SPDT0LUT B3 WSNTO

d) SOFIIN JTD SN

SPACE FOR ROUGH WORK
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IUCN Headquarters is at

a) Morges, Switzerland b) Paris, France

¢) Vienna, Austria d) New York, USA
ROV FTOT Beded [

a) SReHFT, A Mo b) RO, W,

c) Qo BR adw d) RR0dReE*F, CI0RT

Hotspots are regions of high

a) Rareness

b) Endemism

c) Diversity

d) Critically endangered population
50&3‘@}3‘71% _ aﬁzﬁ;ﬁ BReSMEONS.
a) ox3eT

b) #@@eoﬁﬁ

c) FG3

d) &eIoN LPOVOUIITN IR

45. Which group of vertebrates comprises of highest number of species ?

a) Mammals b) Fishes
c) Reptiles d) Birds
3860581% 035e MO0 ézsjﬁ 03,09 méﬁ%ﬁag WERRORT ?
a) RRANED b) weonsd
C) ROERTAWD d) sd8riso

SPACE FOR ROUGH WORK
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46. Biogas contains mainly

a) Methane b) Propane
c) Butane d) Carbon dioxide
B8 RO BN LR
a) Qe b) 3 et
C) wRues d) gomes & &8, &

47. A poisonous gas given out of a vehicle exhaust is
a) Methane
b) Ethane

)
c) Carbon dioxide
d) Carbon monoxide
TOBIT QERROOT GVOERNIT DRFO RO
a) eeR”
b) s3g3ex*
C) QOMPOTB B &8 T
d) BwFY Semed &

48. The purest form of coal is

a) Anthracite b) Lignite
c) Peat d) Bitumen
30RO B3 B

MmQ Q@
a) BomRRLF b) @71 &
C) &ees® d) WeRF*

SPACE FOR ROUGH WORK
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49. Loss of forest has led to
a) Erosion of fertile soil
b) Global warming

c) Loss of habitat of plants and animals
d) All of the above

RS ITY) AT, T0e0NGS

a) PoRHRT IS B33

b) N8 TTINIZ DO

o) R o3 Tt moRmAd B,
d) R0 2R

50. Which of these is not a fossil fuel ?

a) Coal b) Qil

c) Natural gas d) Uranium
QWNTE, BRYR> BEcI09E RFIRL, ?

a) 3980 b) 3o

c) %ﬁﬁrﬁ €30 d) o30deoddo

51. The true end of any food chain is the

a) Decomposer b) Predator
c¢) Consumer d) Human

R BT ROTPOD AT 0ZTonT

a) PBL b) &zdee3c®
c) evzgdeen d) Sn3=

SPACE FOR ROUGH WORK

https://universitynews.in



gy

QP Et%s‘i//universitynews.in 15

52. The second trophic level in a lake is

a) Phytoplankton b) Zooplanktons
c) Fishes d) BenthoS
REREITT 28@Ee treds’ D3]
3) A%, g b) @S HF
C) QeRoneh d) oG’
33. Energy flow in an ecosystem is
a) Bidirectional b) Unidirectional
¢) Multidirectional d) All rounds
-~
wORD FHeHOT Bgok wos)
a) BR0D b) wﬁa{:p
c) w&a%ai d) oo, #oé_gﬁ#o
54. Which one of the following is not a gaseous biogeochemical cycle ?
a) Nitrogen cycle b) Carbon cycle
¢) Sulphur cycle d) Phosphorus cycle
8 INIYNYY cRPHrd e T COmODIE WEHL 7
a) ToETE 138 b) mwFa 3y
C) "o o d) Coxs w8
55. Which of the following is not an inexhaustible form of energy ?
a) Water b) Wind
c) Solar d) Fossil
8 FONSYMYY cRFPYT L0 IRBoORT B3one 9
a) D b) ¢
c) x°C d) =gciogd

SPACE FOR ROUGH WORK
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56. World Environment Day is on
a) 5" Ma
; 1B y b) 5" June
c
uly d) 16" August
28, BORS OF
a)
) &5 b) wew 5
c
) 5218 ) e 16
57. Whi : :
Which of the following are major environmental issues involved in mining ?
a) air pollution b) water pollution
¢) soil degradation d) all of the above
B t?e}ﬁaﬁqi)r{#Q ﬁeémbﬁoﬁaq’ FR02D TORT BRF 70 03RYR) ?
a) oW aﬁa@@s b) %o &RdT,
C) dosﬁggai ot d) SIS QP
58. Soil erosion removes surface soil which contains
a) Organic matter
b) Plant nutrients
c) Both a) and b)
d) None of the above
Sorss Re33) BERY LItRoRR e | Fors i TR \
a) T TR
b) RY Fpewwooried
c) a) S b) 0RR
d) SO SRPYTe 8L,
SPACE FOR ROUGH WORK
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59. The impact of construction of dams
a) Submerged forest
b) Loss of wild life habitat

¢) Damages downstream ecosystem
d) All of the above

eﬁzﬁs&bﬁ} ARNF 8 Fomd

a) SVHAT D

b) B BT SRRRIT S

€) T3 D030 anay TRREeRSS
d) eI DOZP

60. A herbivore is also known asa

a) Producer b) First order consumer
c) Second order consumer d) Third order consumer
#xgaaow;g Q0T BBC0TT,

a) LUz b) ReT0 B vudrdeen
C) OBIe Bo3T evTedneh d) S0 BT vogydoch

61. The Air (Prevention and Control of Pollution) Act came into force in
a) 1981 b) 1986 c) 1991 d) 1948
e (SR BB R DD D) Sod w0r ol
a) 1981 b) 1986 c) 1991 d) 1948

SPACE FOR ROUGH WORK
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62. A sudden large increase in the size of a population is called
a) Pollution b) Burst
c) Population explosion d) Propulsion
xIROGOD YR Boes B8 BPR) 2033 B30T,
a) Bnd3, b) @eoe* ARgts
C) wiRoadob Anges d) B0oneBIE
63. World Population Day is an annual event, observedon_____every year.
a) June 5 b) July 11
c) March 31 d) November 14
D, TR0, DI THAFE PODFGRTNRD, BB, Fe=SAE___ Ford
SOOI,
a) w5 b) =08 11
C) &oeFs 31 d) 5@)”’0&)0‘14
64. The basic requirements of human beings are provided by
a) Industrialisation b) Agriculture
c) Nature d) Urbanisation
RRSHT DL SBFFINTR) QBT LENRSANT
a) §mosessd b) &
c) Jgs d) Sndesced
65. Atmosphere consists of 79 percent Nitrogen and 21 percent Oxygen by
a) Volume b) Weight
c) Density d) All of these
QTR TIBCLIT) 79 TEIZ W38 o) 21 F&B3 &BIRR R0
a) JWee b) 2ns
c) moTd d) a@ee
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66.

67.

68.

hitps:/luniversitynews.in LT

20-
The adverse effect of modern agriculture is

a) Water pollution b) Soil degradation
C) Water logging d) All of the above
TS 20D oo

a) %O BN, b) 03 CARE]

C) QeOF SoNoN® d) S¢S 2P

Water logging is a phenomenon in which

a) Crop patterns are rotated

b) Soil root zone becomes saturated due to over irrigation

c) Erosion of soil
)

d) None of the above

TOLT” TONONT 20T DTBRZINTI
a) ¥ InTong $T2BFES

b) ©&ctnt DeTEDTRN RS Bww SVDIY STF NI
C) datéa’ 752

d) 0edI cdnPYTe &

o~

Producers are also known as

a) Heterotroph b) Saprotroph
c¢) Autotroph d) Decomposers
vcolatione) TR FEI0TT.

a) Iudedn T b) Bpetines’
c) suneine d) apeEne
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indicated the total mass of organisms at each trophic level.
a) Pyramid of Biomass

b) Pyramid of Energy
¢) Pyramid of Number

d) Pyramid of Ecology

T HRe28° DR, e Wi, BTSN, RRURIE,
a) 2BeT[TSOD QTG

b) 303> SR

c) Roadod a8

d) ToR3 DA edaom

70. Which of the following is management option for air pollution ?
a) Regulations and standards
b) Transport planning
c¢) Using CNG as fuel

d) All of these

33 ISNIYNEE, modwwa@a;@ R BT 503, ORI ?
a) DB 02 BRITRNRD

b) =0R odeexd

C) R 2O, ROFN LRI
d) aBeRp
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